
1 2 

3 4 

14.62 + 6.95 = 

5.NBT.7 5.NBT.7 

5.NBT.7 5.NBT.7 

61.8 + 72.05 = 

87 + 12.3 = 17.94 + 26.07 = 
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5 6 

7 8 

5.NBT.7 5.NBT.7 

5.NBT.7 5.NBT.7 

50.15 – 29.24 = 44 – 18.64 = 

83.7 – 34.36 = 28.54 – 8.61 = 
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9 10 

11 12 

5.NBT.7 5.NBT.7 

5.NBT.7 5.NBT.7 

16.38 x 8.4 = 63.14 x 2.08 = 

52.69 x 4.13 = 72.5 x 27.41 = 
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13 14 

15 16 

5.NBT.7 5.NBT.7 

5.NBT.7 5.NBT.7 

2.82 ÷ 0.6 = 18.36 ÷ 0.51 = 

86.02 ÷ 1.7 = 102.5 ÷ 0.41 = 
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17 18 

19 20 

5.NBT.7 5.NBT.7 

5.NBT.7 5.NBT.7 

Angie wants to buy a pet 

rabbit.  She has $48.15.  

The rabbit costs $23.99.  

How much money will 

Angie have left after she 

buys the rabbit? 

Jennifer can read 42.5 

pages per hour.  If she 

read for 3.25 hours, how 

many pages did she read? 

Ashley wants to run in a 3.5 

mile race.  She wants to 

finish the race in 24.5 

minutes.  What pace does 

Ashley need to keep per mile 

to finish the race in that 

amount of time? 

Tim has $28.43 and 

Valissa has $35.98.  How 

much money do they have 

altogether?  
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